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 BGYCT-131  

BACHELOR OF SCIENCE (B.Sc.) GENERAL 

(BSCG) 

Term-End Examination 

June, 2022  

BGYCT-131 : PHYSICAL AND GENERAL GEOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  All questions are compulsory. Marks allotted for 

each question are indicated against it. Draw well 

labelled diagram, wherever necessary. 

1. Briefly answer any five questions from the 

following : 52=10 

(a) What do you understand by monistic 

hypothesis ? 

(b) What is a shadow zone ? 

(c) What is tsunami ?  

(d) What is a mural joint ? 

(e) Define outlier.  

(f) What is an outcrop ? 

(g) What is a harmonic fold ?  

(h) What do you understand by alluvial fan ? 

(i) What is a regolith ? 

(j) What is a true dip ?   
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2. Write short notes on any four of the  

following : 45=20 

(a) Nebular Hypothesis of Kant  

(b) Convection in Mantle and Core   

(c) Continental Drift Hypothesis  

(d) Products of Volcanism 

(e) Field Safety Measures 

(f) Strike-Slip Faults  

(g) Role of Geology in Natural Disaster  

Management 

(h) Drainage Patterns of the River System 

3. Answer any one of the following : 110=10 

(a) Discuss the depositional landforms 

developed by geological work of wind.  

(b) Give an account on the evolution of the 

Himalayas.  

4. Answer any one of the following : 25=10 

(a) (i)  Discuss the criteria for recognition of 

folds in the field. 

(ii) Describe the properties of seismic waves.  

 OR 

(b) Write short notes on the following : 

 (i)  Moraines 

(ii) Volcanic mountains  
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 ~r.Or.dmB©.gr.Q>r.-131  

{dkmZ ñZmVH$ (~r.Eg gr.) gm_mÝ`  

(~r.Eg.gr.Or.) 

gÌm§V narjm 

OyZ, 2022 

 

~r.Or.dmB©.gr.Q>r.-131 : ^m¡{VH$ Am¡a gm_mÝ`$ ^y{dkmZ  

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  g^r àíZ A{Zdm`© h¢ & àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE 
JE h¢ & Ohm± Amdí`H$ hmo, ñnîQ> Zm_m§{H$V AmaoI ~ZmBE & 

 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma g§jon _|  

Xr{OE : 52=10 

(H$) AÛ¡V$ n[aH$ënZm go Amn Š`m g_PVo h¢ ?  
(I) N>m`m joÌ Š`m h¡ ?  
(J) gyZm_r Š`m h¡ ? 

(K) {^{Îm g§{Y Š`m h¡ ?  
(L>) nwamÝV:em`r (~{h…em`r) H$mo n[a^m{fV H$s{OE & 
(M) Ñí`m§e Š`m h¡ ?  

(N>) gwg§dmXr dbZ Š`m h¡ ?  
(O) ObmoT> n§I go Amn Š`m g_PVo h¢ ?  

(P) aoJmo{bW Š`m h¡ ? 

(Äm) `WmW© Z{V Š`m h¡ ?   
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2. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m±  
{b{IE :  45=20 

(H$) H$mÝQ> H$s {Zhm[aH$m n[aH$ënZm 

(I) àmdma Am¡a H«$mo‹S> _| g§dhZ 

(J) _hmÛrnr` {dñWmnZ n[aH$ënZm 

(K) Ádmbm_wIr CX²Jma Ho$ CËnmX  

(L>) joÌ _| gwajm Ho$ Cnm`  

(M) Z{Vb§~-gn©U ^«§e 

(N>) àmH¥${VH$ AmnXm à~§YZ _| ^y{dkmZ H$s ^y{_H$m 

(O) ZXr V§Ì H$s Andmh àUm{b`m± 

3. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 110=10 

(H$) dm`w Ho$ ^yd¡km{ZH$ H$m`m] Ûmam {Z{_©V {ZjonUmË_H$  
ŷ-AmH¥${V`m| H$s MMm© H$s{OE &  

(I) {h_mb` H$s CËn{Îm Ho$ ~mao _| {dñVma go {b{IE &  

4. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 25=10 

(H$) (i) joÌ _| dbZm| H$s nhMmZ Ho$ _mnXÊS>m| H$s MMm© 
H$s{OE &   

(ii) ^yH§$nr` Va§Jm| Ho$ JwUY_m] H$m dU©Z H$s{OE & 

 AWdm 

(I) {ZåZ{b{IV na g§{jßV {Q>ßn{U`m± {b{IE : 

 (i) {h_mo‹T>   
(ii) Ádmbm_wIr nd©V  


